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#1: Man: I wonder why the office is still not open.

Woman: But it’s not yet eight. In fact, it’s only a
quarter to eight.

At what time does the office open?

A. At 8:30 B. At 8:15
C. At 8:00 D. At 7:45
EREC.
(—)
E—BE RES1E
( )1. Tom and Mary haven’t met for
A.a few days B. several weeks
C. a short time D. quite a long time

# B, EES 2—5 8

( )2. Jane enjoys the life in



A. the country B. town
C. London D. the mountain
( )3. There in the country.
A.is only one bookstore
B. are a few bookshops
C. is no bookstore
D. are lots of bookshops
( Y4. Which of the following is correct according to the
dialogue?
A. Jane likes to watch TV.
B. Jane likes to go to see a film.
C. Jane likes to do some gardening every day.
D. Jane likes to go for a walk in the country.
( )5. London is a good place to
A. spend a holiday
B. live in
C. go for a walk in the evening

D. do some shopping

B=BXE. MEE 66— E
( )6. The woman comes from
A. England
B. France
C. Italy
D. Germany
( )7. The dialogue perhaps took place
A.in the street



)8.

)9.

B. i a college

C. in a restaurant

D. at a magazine office

The man was .

A.on his way home

B. on his way to France

C. on his holidays

D. busy taking some photos for the woman
From the dialogue we khow the woman is
A. a teacher

B. a worker-

C. a student

D. a reporter

BT IE, &S 10—13 8

(

)10. Betty is going to pay a visit to

A. Guangxi
B. Guangzhou
C. Hangzhou
D. Lanzhou

)11. How is Betty going to the airport? By

A. bus
B. train
C. taxi
D. plane

)12. Betty will go to the visiting place

A. alone



B. with her_brother Bob
C. with Kate
D. with her parents

( )13. Tom will spend his holiday with his parents for

A.a week
B. the weekend
C. only one day

D. quite a long time

BHBME, DS 14—18 18

( )14. From this story we can know the car was invented

A. more than 100 years ago

B. less than 100 years ago

C. just 100 years ago

D. 50 years ago
( )15. Henry Ford must have

A. five or six younger brothers .

B. six brothers and sisters

C. five brothers and sisters

D. three brothers and two sisters
( ) 16. How many dollars did young Ford earn every

week?

A. 3 dollars

B. 2.5 dollars -

C. 4 dollars



D. 3. 5 dollars
( )17. has a history ot about one hundred years.
A. Henry Ford
B. Henry Ford Company
C. The machine
D. The car
( ) 18. Which of the following is the best topic of the
passage? '
A. An old car.
B. The inventor of the car.
C. Henry Ford. ,
D. The history of the car.

FEARB TS, EESE 19—20 &
( )19. The traffic (3Zil) accident reported happened

A.in Guangzhou
B. in Shantou
C. on the Shantou highway
D. on the highway from Guangzhou to Shantou
( )20. From the news.we know there were peo-
ple in the bus at that moment.
A. 47
B. 49
C. 20
D. 29
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F-BXHE EERE1H
( )1. What’s the weather like ?
A.1It’s raining.
“B.It’s snowing.
C.It’s sunny.
D.It’s cloudy.

HEoBE EER2E
( )2. When does fhe woman’s brother leave?
A. At 9:00.
B. At 4.00.
C. At 12:00.
D. At 10:00.

EZBE, A 3—4 B
( )3. What can be concluded from this dialogue?
A. The hall is on fire.
B. There is very little breeze (fX.).
C. Smoking is not permitted in the hall.
D. The man is bothered (SFi#i,¥T#L) by the
smoke.
( )4. Who is smoking in the hall?
A. The woman.
B. The man.



C. No one.

D. Someone.

FIUBX 5, BE S 5—6 &
( )5. Who’s coming to visit the family?
A. The man’s mother.
B. The man’s mother-in-law.
C. The child’s mother.
~ D. The woman’s grandmother.
( )6. Which of the following is true?
A. The man is very busy.
B. The man doesn’t look fine.
C. The woman’s mother always comes to visit
them on Saturdays.

D. The man wants to see his mother-in-law.

BHBEXE, BES 798
( )7. What does Peter do?
Heisa
A. teacher
B. worker
C. businessman
D. student 7
( )8. How long does Peter’s summer vocation last?
A. Two weeks.
B. Three weeks.

C. Four weeks.



D. Five weeks.
( )9. Peter will travel to Japan and China by
A. plane
B. train
C. ship

D. car

BB, FEE 10—12 8
( )10. What is Tom’s job?
A. A lawyer.
B. A doctor.
C. An engineer.
D. A manager.
( )11. What was Tom’s dream?
He wanted to become a (an)
A. lawyer
B. manager
C. engineer
D. doctor
( )12. How many years had Tom worked for the depart-
ment? ’
A. A year.
B. Three years.
C. Four years.

D. Five years.

EEBATE, B 13—15 8
8



( )13. What’s the dog doing on a small bridge?
_A.He is working.
B. He is walking.
.C. He is barking (IR, 1Y).
D. He is waiting for another dog.
( )14. What does he see in the water in fact?
A. Himself.
B. Some fish.
C. Another piece of meat.
D. Another dog.
( )15. Now the dog opens his mouth
A.to walk
B. to eat meat
C. to bark
D. to catch the meat

FABIE EER 16—20 4
( )16. Why did Jim stop walking?
A. There was a rock on the path.
B. There were no trees.
C. It was too hot.
D. His son could not go on.
( )17. What did Jim do shortly after he sat under a big
rock?
A. He drank all his water.
B. He drank a lot of his water.

C. He drank some of his water.
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D. He drank most of his water.

)18. When did }Jim awake?

A. At night.
B. In the morning.
C. Late in the afternoon.

D. In the evening.

)19. Where was the snake when Jim first looked

down?
A. On his shirt.
B. By his feet.
C. Under the rock.
D. On the path.

)20. Why did Jim keep still?

A. Because he was afraid of the snake.
B. Because he was interested in the snake.
C. Because he was able to kill the snake.

D. Because he was lazy.

(=)

B—BE . EEE 1 E

(
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)1. Wu Dong’s kite is

A.on the tree

B. in the tree

C. under the tree
D.in the sky
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( )2.

Who went to the zdo with Mike?
A.Mike’s friend.

B. Kate’s mother.

C. Mike’s mother.

D. Kate’s brother.

. How did they go to the zo0?

A. By bus.
B. On foot.
C. By bike.
D. By plane.

. Was the No. 33 bus crowded at that time? Why?

A.No. Because it was raining hard.
B. No. Because it was Sunday.
C. No. Because it was the first bus.

D. Yes. Because it wasn’t Sunday.

. When did they get up in the morning?

A. Very early.
B. At six.

C. Before five.
D. Before six.

FEBIE, MEE 6—9 &8

( J6.

Where did the woman want to go?
A. The airport.
B. The railway station..
C. The bookstore. -
11



- D. The hospital.
( 37.1t2s only walk from here to the railway sta-
tion.
A. twenty minutes’
B. an hour’s
C. half an hour’s
D. five minutes’
( )8. Why didn’t she want to go there on foot?
A. She liked to go there by taxi.
B. She never walked such a long way.
C. She was too tired to walk.
D. She carried heavy boxes with her.
( )9. How did the man help the woman?
A. He bought the train ticket for her.
B. He gave her a piece of advice.
C. He took her there and helped her with her box-
es.

D. He took her to the post office.

BUBIE, F&S 10—13 8

( )10. Where does the woman come from?
A. She’s from the United States. .
B. She’s from Japan.
C. She’s from China.
D. She’s from Russia.

( )11. Does the man speak English?' .
A. No, he speaks German.
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